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Il Semester B.Com. Examination, November/December 2017
(Semester Scheme) (2015-16 and Onwards) (CBCS) (F + R)
COMMERCE
3.6 : Quantitative Analysis for Business Decisions - |l

Time : 3 Hours Max. Marks : 70

Instructions:  Answers should be written completely either in English or
in Kannada.

SECTION-—A
1. Answerany five sub-questions. Each sub-question carriestwomarks.  (5x2=10)
CIRTTRTTR D LUTTIROR ¢0Z0%. B3 CUTTIR 2 L2080,
a) What do you mean by correlation ?
ABROWOT 0T ?
b) If bxy =-0.36, byx =-1.38, obtain ‘r'.
bxy = -0.36, byx =—1.38, w3 'r' For0&ROWD.

¢) Write the meaning of irregular variations.
SRODRT WHRTFEOD ST R I9A

d) Expand (y — 1) = 0.
(y = 1)8 = 0 ac D50R.

e) What is meant by multi-stage sampling ?
WEBIBOBE BRTO 0m3ded 7

f) Mention methods of sampling.
SREOAD DN SR

g) What is probability ?
Aorgavecdds womdedd ?

P.T.O.
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SECTION-B
Answerany three questions from the following. Each question carries sixmarks. (3x6=18)
CIRRTEER FD TBnen eugor. I3 TIr edd €90BMIE0.
2. Ranks given in a music contest assigned by two judges are given below :
JudgeA: 4 5 8 6 7 3 1 2

JudgeB: T 5 4 1 3 2 6 8
Calculate rank correlation.

RoNeS Ao W SeSnFIMoTcd 8 #Eor B erdndad deacomyd.
seSprEmeg A 4 5 8 6 7 3 1 2
d3nrsmd B: 7 BT 2 e T 8
3,668 RBAOWOTII, BOTRHLRCWD.

3. Calculate the two regression equations from the following data :
X =20, Y =12, 9x=5, 6, =25,r=08.
NS DROMOOT FTRE> Bo0r3wS0sd BBNOEBYE) BB,
X =20, ¥ =12, Ox=5, 6, =25,r=0.8.

4. Estimate the population of India for the year 2021 using Binomial expansion
method from the following data :

Year: 1961 1971 1981 1991 2001 2011

Population : 439 548 684 89 100 111

(in crores)

20218 7030 wasosd odom) 8 BN esodd RTR0300E R0 DB FO%
EI0TIOTIAL

A 1961 1971 1981 1991 2001 2011

z:sa‘tﬁo:q ; 439 548 684 100 111

(Betinvd)
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5. Aman wants to check the inventory records against the physical inventories by
a sample survey, permitted deviation is + 5 and standard deviation is 39.4. Find
the sample size, if the confidence level is 90% (Value of confidence co-efficient
90% = 1.64).

R0ore T 08y w388 RO SRos HOEeRd SRTO DO BRE VBT
b3 +5, DOFR ©8F> 39.4 S Sowdaoes, 90%, ST WRTWOD Cirlenns)
BorR>8.R0000. (Howscdo Amrorss 90%=1.64)

6. Two unbiased dice are thrown. Find the probability that
a) both the dice show the same digits
b) the first die shows 5.

BNolr %) %msaegp BRI, SRR, RoyfRRecsoFosR, O LBOD.
a) SO BA D 2,003¢ ﬁoa%o:ba‘;gt 3nepaman
b) Secosed BF* Hesd5 3ne0ATN.

SECTION-C

Answerany threequestions from the following. Each question carries fourteen marks.

(3x14=42)

IRt et sgegﬁr@ﬁ eogon. B 314 20810,

7. Compute Pearson's correlation co-efficient for the following data and also calculate

the probable error.
Supply : 30 29 29 o5 24 24 24 2 18 15
(quintals)

Price®) : 1 12 13 14 1 16 1 17 18 20

S0t Aotz Achacotes 53 3600003 &0000"RRD TegBcom ot ORI, SR
SRR T RorRecsd 35) FoROKBOwD.

dowom: 30 20 29 5 24 24 24 2 18 156
(spiser)

B3 @) - 1 12 13 14 15 16 1 17 18 20
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8.

10.

1.

Calculate trend values by the method of least-squares from the data given below ;

Year : 2009 2010 2011 2012 2013 2014 2015 2016
Sales: 76 8 130 144 138 120 174 190
(Rs. lakhs) |

Plot the values on a graph. Also estimate the sales for 2017.
TG S QIR 2,000 BOY TFSODR) Trodud TorR deamafiojaeﬁm t3ozs zﬂeﬁobsii

)

mOTd8% 38 201738 5055904 IR083 0, 30BN,

SR 2009 2010 2011 2012 2013 2014 2015 2016
[Inook 7% 80 130 144 138 120 174 190
(. ©1v0)

The heights (in inches) of a group of fathers and sons are given below :
Heightoffathers: 71 68 66 67 70 71 70 73 72 65 66
Heightofsons :69 64 65 63 65 62 65 64 66 69 62

Find the lines of regression and estimate the height of son when the height of
father is 69 inches.

9 BRI Fozd w0 mg@ WB0OD d0tde dfafﬁ'ﬁzdg_; FOTERRONWD, Soded Octe]
69 qoensd QTN NS 2ZT D) DOT L30TV, :
Sokdodb 23d: 71 68 66 67 70 71 70 73 72 65 66

=gd a3d 69 64 65 63 65 62 65 64 66 69 62

Below are the data relating to wages earned by workers per day in a certain
factory. Calculate the number of workers earning more than T 75 per day by
applying Newton’s method.

Daily wages R)upto: 50 60 70 80 90 100
Numberofworkers : 50 150 300 500 700 800

0 FOIY TSOT TDOF B NRAT e Koroad B S Qemeonnd, B
on. 75:503 éa&% Stadzdgt NeRLT ToQOF B0 ﬁo;jsojaﬁgl FOEOEROWD, SR L @mﬁdaﬂi
&3 00020,

3 OF B3 (T) 38 5 60 70 80 90 100

T80 Koad : 50 150 300 500 700 800
Estimate the production for the years 2013 and 2015 with the help of the following data :
Year : 2010 2011 2012 2013 2014 2015 2016

Production (in’000tonnes): 200 220 260 2 350 ? 430
B Deathss wosesosnY AmabRE 2013 ) 2015 S G YUBTH0NR) YT RRA.

S| © 2010 2011 2012 2013 2014 2015 2016
wdﬂ(’ooouwﬁﬁeg - 200 220 260 ? 350 7?7 430




